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IMPORTANT INSTRUCTIONS

This Question Booklet is divided into three Parts—Part—I, Part—I| and Part—IIl. Part—| contains questions of
Language (Qualifying), Part—II contains questions of General Studies and Part —I11 contains questions of
Psychology.

Part—I, Language (Qualifying) consists of Question Nos. 1 to 30. In Part—I, English L anguage consists of
Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, Urdu
L anguage consists of Question Nos. U-9to U-30 and Bengali L anguage consists of Question Nos. B-9 to
B-30 (Students are required to choose the questions from any one language out of three languages). Part-I1
consists of Question Nos. 31to 70 and Part-111 consists of Question Nos. 71 to 150. (the questions and their
responses are printed in English and Hindi versions both of Part-11 and Part-111)

All questions carry equal marks.

AnAnswer Sheet has been supplied inside the Question Booklet to mark the answers. You must writeyour Roll
Number and other particularsin thespaceprovided in theAnswer Sheet, failing which your Answer Sheet will
not beevaluated.

Immediately after commencement of theexamination, you should check up your Question Booklet and attached
answer sheet and ensurethat the Question Booklet Seriesisprinted on thetop right-hand cor ner of the Bookl et
and the seriesencoded in answer sheet are same. Also please check that the Booklet contains48 printed pages
including two pages (Page Nos. 46 and 47) for Rough Work and no page or question is missing or
unprinted or torn or repeated or question booklet and answer sheet havedifferent series. If you find any defect
inthisBooklet, get it replaced immediately by a complete Booklet with OM R sheet of the same series.

You must write your Roll number in the space provided on the top of this page. Do not write anything else on
the Question Booklet.

Each question comprises of Five responses- (A), (B), (C), (D) and (E). You are to select ONLY ONE correct
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

In the Answer Sheet, there are five circles- (&), B), (©, (D) and (E) against each question. To answer the
questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your choice for each
guestion. Select only one response for each question and mark it in your Answer Sheet. If you mark more than
one answer for one question, the answer will be treated aswrong. Use Black/Blueink ballpoint pen only to
mark theanswer in the Answer Sheet. Any erasureor changeisnot allowed.

If thereisany sort of mistake either of Printing or of factual nature, then out of English and Hindi Versions of the
guestions, the English Version will be treated as standard.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the
examination has concluded, you must hand over your Answer Sheet tothelnvigilator. Thereafter, you are
permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or penalty as the
Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART -1
(English Language)

Directions (Q. Nos. E-1 to E-5) Read the
passage given below and answer the questions
that follow :

Kerala is just the place for you if you love
variety. There is something here to please everyone.
You are sure to fall in love with the serene beauty of
Kerala's magical backwaters. When you have
experienced that, you can sample the excitement of
Kerala's bustling cities or retreat into the villages to
see at first-hand how time can stand still. Better still,
take a trip to the spice gardens in the hills, to inhale
the fragrance of fresh cardamoms if that makes your
tastebuds tingle and fills you with dreams of food,
you need not worry. Kerala's cuisine is known for
its spicy hot flavours. The coconut and the spices
give the food - especially the seafood a pungency
that is enhanced by tamarind. Your meal would be
incomplete without appam, rasam, fish curry and
some delicious payasam. To wash it down, sip the
naturally refreshing water of a tender coconut. And
when you had your fill, move into the markets to
shop for gold, handicrafts, spices, cashew nuts and
coffee. Bargain-hunters will never have a problem
since English is spoken and understood everywhere
in Kerala.

E-1. Whyis Kerala just the place for you if you

love variety ?
(A) There is something here to please
everyone

(B) Kerala has magical backwaters
(C) Keralais veryboring

(D) More than one of the above
(E) None ofthe above

E-2. Why should you take a trip to the spice

gardens in the hills ?
(A) To count the spices that are grown
there

(B) Tobuysome spices

(C) To inhale the fragrance of fresh
cardamoms

(D) More than one of the above
(E) None ofthe above
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E-3. Whatis Kerala's cuisine known for ?
(A) Forits bad taste
(B) Forbeing bland
(C) Foritsspicy hot flavours
(D) More than one of the above
(E) None ofthe above

E-4. What gives sea food its pungency?
(A) Coconutand spices
(B) Coconut & spices enhanced by
tamarind
(C) Addition of cocacola
(D) More than one of the above
(E) None ofthe above

E-5. 'Why would foreign bargain-hunter visitors

never face a problem in Kerala ?

(A) Many foreign languages are spoken
in Kerala

(B) Hindi is the language of
communication in the cities of kerala.

(C) English is spoken and understood
everywhere in Kerala.

(D) More than one of the above

(E) None ofthe above

Directions (Q. Nos. E-6 to E-7) : Fill in the blanks
with suitable articles like 'a', 'an', and 'the":
E-6. Ifyoureach Airport on time, you will

catch the ﬂigT
(A) a

(B) an

(C) the

(D) More than one of the above
(E) None ofthe above

E-7. Youshould go for early morning walk.
(A) the
B) a
(€) an

(D) More than one of the above
(E) None ofthe above

E-8. If 30™ April is Tuesday, what day of the
week would be 10t May?
(A) Monday
(B) Thursday
(C) Saturday
(D) More than one of the above
(E) None ofthe above
[=]#% =]
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(Hindi Language)

frafafea smfea o & onem )y €. H-9
| H-14 9% & J9i & SW & 9. |

T 3R T T § TR & B 9 | WA T o 3R
T G | To T g oft uea | o ot | |t Peren
I STAER A A T A | 39k Forodia srer siga ewe
o1 | e & Feet Weld—ghed 3R aganft # aifew m
TG o1 | T 3R 31w faeht drea 9 | gaferu @ e
! ITTBT BT o oh o0 TeArg 2 ot | 31T rerent hi
T T AT AT | Teh IR {04 § TS gieht 311" WRT @1
o1 | T A ISRt 31T hl UehAT <TRT | 3 8 § Teh HIeX
& e ag i |

H-9. 7 SreeRt 3113 i ot ekl mel ?
(A) YO ST | R I A1
(B) ¥ 3iR 3T1a U & Whet ° Ugd A
(C) Uk aRIGA | TR I ST TR TgT ot
(D) ude & U A aAfeew
() Swdam & e

H-10. T 3 Tl A3 B T o o1 T TeATg ol
aqr ?

(A) Tocht 3 g & R0

(B) U et H UG & hwt
(C) W3 w0

(D) T it & v o
(B) Sudsd & =g 7

H-11. WA= ?
(A) &
(B) Ueidaw
(C) wwzER
(D) Iugea @ Uk @ aiitrn
(E) Swder o & g el
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H-12. @ 3R 319 Saa d = 9 ?

(A)

B)

©)

(D)
E)

s

Tt e

g

Iuge | € T | A

SUYer WA HE TE

H-13. @it iegreh W 8 RN @ @a 2 ?

(A)
B)
©)
(D)
E)

T <ht e o HROT
T o URerHt g R0
T o STAER o HRUT
Suger | A U A e

SUYer WA HE TE

H-14. 33 fora M # 31fees 79 emar o ?

(A)

B)

©)

(D)
E)

e
wgd

dreid

S 8 9 v @ aiferh
SugeR A A T

e [P.T.O.



fr=feRaa orafsa werwr & omaR W W €. H-15

A H-20 9 & Uwt & W A SRt |

forarsit wa o wEr R H | U 9 | S 32y WERn
A9 % 3299 | off 3= A1 | I AU HE 9 @ 1S
SheTel AR €1 T8, Sfe<h Ueh 3Te0 ToHITaR it & | 32 wt
T ek T <Y T IR & SR TRreT T T i | 3
FR 775 A A ofi TR o o IR FER o SR FA A |
3Tk 3T TUT 3 HRUT At T ITHT SR FA A | TH

At 3k Sitam | e o =nfzu |
H-15. s SR gn & @ iR g ?

(A)
(B)
©
(D)
(E)

Teh 378 TS

g fommen

FITA HHIE

S 4 T
SugeR A i T

H-16. TraTsh 3 & § hiq € Hiamn wd ?

(A)
(B)
©
(D)
(E)

g @

T Ty

Fan
TR 8 & T @ ot
SR 8 6 g T

H-17. REcidR ?

(A)
(B)
©)
(D)
(E)

WA T ISR gl
WA & g A 4 & U
AT <l HETH A1
Sugerd § @ U W SRR
TG § A R T
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H-18. i Prarsh st siret i shid & ?
(A) 3R e S HwRT
(B) wRREgEIHHR®
(C) 3% 3T<S TUIl o HROT
(D) Sudwd AT A Al
(B) Sudwd & =g 7

H-19. T3 TeHifas 91eg ot 312 ¢ -
(A) =g Hifa e v = deer g g
(B) =g ifa o v w6t weme gran @
(C)  Towhfa & wvafm i
(D) Suger d € T | 3iferh
(E) Sudwd & =g 7

H-20. =70 srafda et < e 2 -
(A) ForarhHimia e
(B) Trash =t St
(C) Tomash o wEmm
(D) Suger d € T § itk
(E) Suder & g T

H-21. 37 safharas @ 8 -
(A) &
(B) wm
(C) w=aA
(D) Sudew AUk A Al
(E) Sudwd & = T

H-22. 37 3A0Ysy qeAm § -

A) #

B) 1

(C) =

(D) 3o & A0 A arfeen

(E) Sudeada e
EIEI
[=]¢



H-23. ‘oM Wi T8 o | arer § fore wnen it o H-27. s yg o g -

TR ? (A) ek oh s

(B) SR B) s

(B)  werere (C) =1z R 3ve T e e 2

OREL b (D) v A v @ s

(D) THFHA TR S ) vEmEdSEd

(B) Sudsd & =g T

H-28. 39 W1’ 91eg <l A= TeE & —

H-24. @9 acan vise @ - (A) e

&) == B) s

B) = (C) wurt

(C) < (D) Suder & & U A s

(D) Iude 8 U @ Al (B) Sudsd & =g 7

(B) Suger & & hig &

H-29. ‘i@l «im &1 fie g’ areaEvs & e v

H-25. T yg e d - = -
(A) PN (A) Wem
B s (B) www
© e ©)
(D) v s s (D) THTHAE A
R (E) Suderd @ i

H-30. ‘@erRE #ugAr WAL -
H-26. 37 ‘Scpe’ vIeg o1 faudianeer v1eg @ - T

@) fg (A) FEAHTS
a;q (B) < fern
GZ) o (C) T amm
(a); e @ (D) Sudwa# W uF | AR
TS
(E) Suderd & i T
(E) Suded & i T
[=]#E[s]

13/HV/M-2024-23/HS-523-E 5 R [P.T.O.



(Urdu Language)

2 pe gl 1 dntde A d Se kL
SELUF e et Gt 1302 gt

P S TR U
cLHSUFE Ue e Gl S
sl FU e et e 55 G
Sl Lol oA

ST Tl e Pt i U - e (s
e Sre JF

0ol LT S
LLuiz (A
LLul: B

LLuf (O
e gl & gite” (D)
S e (B

IS UAS T Fe T
S g
£ @)
o’ (B
uéf,;: ©)

Sie K Jille? (D)
S Uil ()

K g B e U 0
oW
Je @A)

S ®)

Ze(©)

Sie K Jelle? (D)
S Uil ()

Wi rtutu' Fe 2
PN
- (B)

£ ©

S Ll Sl (D)
S Ui (®)
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.U-11

U-12

.U-13

.U-14

ST T e S

SEEUTs AL U Fee S
e ﬁ”f@faj,//,t;ﬁid/uw@u%wdg
Sk E S e fe Ui dE
! (Zl/,l,,g,c{,;b’,«wﬁué‘(ﬁ@ﬁ,{:«"w_‘gﬂjl

& Lt U Ee

£z (A)
= (B
% 1 ©

e L JiUe” (D)
S s (B

VLA S
K (A

§fe2 2 (B)

K G (O

e L SV (D)
S e (®)

.U-9

.U-10



ITLL(E}G'@:C;J‘/&}JTU:M
cunE o Uik (A
=dSl  (B)

= lndle  (C)

Sie K Jille? (D)
S it (B

°u§LbL}W:LdQJK;j;f
Lue (A

Loiky (B

Zlt  (©

S Ll il (D)
S st (B

Pould O Susid syl
?u;&@n

Uil (A)

uilt  (B)

U#F (O
S Ll Jile? (D)
S e (B

frd VUQ(UUDH&.}”
i (A
Ji (B)

()
e Ke Jolher? (D)
e e (B

fe L/u;’/( 19 Jn 5
NN

o7 (B)
JE (O

Sie K Jille” (D)
S st (B

13/HV/M-2024-23/HS-523-E

U-17

.U-18

.U-19

U-20

.U-21

,ugd/,/ej.éu@:;m:fdmuﬁm&g:w

e Qi U Us gote Sty il i

S U b g 2 S

e Lz s S Wl 2l

e T i S = 96K

GG
JG/?J’L&&L%G/L’ZI%é)(“V'

&g&u,//,tuzUt:u;ésg?uganuﬁz,/

Ul bl AU b P K

SASUL eI I A Gt SE

9 T8l Qe ot Ui U

/5'JA(JU}3t_‘Lt'lgn

e $nAUL L =50 U-15

v (A)
g ®)
% (C)

e L il (D)
e s (B

QAU e eI S Lol U-16
?LQJ,%
Susy ()
Seb (B)
= (©
Hiefl & Jiloer” (D)
Se s ®

=g [P.T.O.



?‘LLJ/J;U.:‘;!;'K"ﬁ "
oUl (A)
G B
T ()

M K Sl (D)
S St (B

fe I UL s
=l  (A)

<t (B

~ (©

A K Sl (D)
S s (B

S e A I 5
g A
E (B

g (©
S Ll e (D)
S s (B

e WG S st
SN

W B

Uk (C)

S Ll Sl (D)
S s (B

13/HV/M-2024-23/HS-523-E

U-27

.U-28

.U-29

.U-30

ez by g el T U2

?‘L l.{(

=2 (A)

A B

S ©

Sie L J2ie” (D)

HYe S (®)

LWz d s L

. v

VSRV

= (B)

S ©

e L Sl (D)

S St (B

fe e p Lot s

SN

S (B)

o’ (O

e L SV (D)

et (®)
?“édu' t’%f!ﬁ S U:Ll5@/}

A EE AL (A

<deEUELLL (B)

eV (©

Sie L 2l (D)

S S (®)

S I GBS A e

U @)

Usf (B)

A2 ()

e L S (D)

e e (®)

.U-23

.U-24

U-25

.U-26



(Bengali Language)

e (B-9 (3t B-14)

TR Aot A2y e A6, [FE @1 @il
2300 I #Ale, Sz oves fee a1 | fofd e gl
oo, @ wife gzl 23xifece, 2 #[iE «@3g
TS <4 58, SRl 772 2281 Al | (1] @ i #1123,
Trol (<12 e ToifFe 236 | @5Te TR [eie 2309
kAW NPT ‘@, 2R (R Srse ©iid «ics forifs
A[BNCR; TS SI1wie 777l 712 2ile 2303w, eAieces
B (e AiZCa @R Fof SmisIces 225! 213 |
FAIIL G SR ATHF FBCHCHT T fzar, fofe
TR B AW S AN A FOICH TR 230 |
AW S, T wiREet axee Afere aifae |

TS TR el SRR PN AFCP AT,
“@ 2l [RICE, wiRIte (ost e 6 2303 2 SieME
«Q I S SN I 230 1 | S ST
23AMZ | O SN §3 72 (T, JLRAN O SR
aereorial T T O A (F T 2 (7 AT, ORI @
e (& T IR (T AN T | el
SR G2 @S DI S G0 ol MSa-arate
I IR 0L BRI |7

I AR B e @ @3 fofd qamida
forera 7 fetaw | AR ot misiew 23ce, fofq
AR et Alemifetem @, T faw [ weE
feovife #i7, Sww: ww e coiEl SRl SiE 92
ST F9, M AN WO IO (ONE AR |
AT e OIRTS TFFe! &AMt | AR
M A g v i sy <¥fcs wifeeem | “siw
Qs 5 FTS N2 230 BIfRA 7124 | G230l
Tl 1 Afern FiRIAR Sl (7 ARRY &2t SRl
2B | FHHAFACES Wil 22 SR 22w 8+
i &7 |

F A e JRTS AT Fi2 ([, St
et el 2B | vl (e SR ST
e 2305 | SR AR o], TEHCF SR IR
foml pifererzd, (T e Feq 230, A0,
‘e it e, S & R 2 st a1 e,
oI ©lRlE FRE 17
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AT e AfeTEw, oy v, e
1A 3ZeT | e ST 20O T Wwtad g2l
T o 23300g; Sredd AT @F NS A
SfEIfF 2303 | Sl OIRIE @RE, Do S
B OIZICE T SR, G2 S o1 | iisifer @2 i
FeE Ffcers fil e wface 21 1”

N G A, SN SN2 @0 *iofel
Ffacely, S FGANCE Ao FU Af4F Tg I |
I AR @ A F2A; SAioife ey T 17

SR FAT T SR | SRE G A ww Smea
GG SFIeE T @l e | 2 @R s AR
FfATeT, 3 = Fifocae =1 | I A SRS [/
TR S IR (F, G0 S 902 5o | 2T
U WL 2ZCE SR | TN o (T S2F,
(1 MR To- e MRWREN ORI (2 20 bt
2 | @FCel SF w12, oI W (T SRFNE T2 |
el ol BT e 230 | FNL A, A @
SR SIS TRCY FS=Ca 127 (oICe |

fofq Afewe Ao Diewt sz e
TSI G T 239 A, SEUcae OiRid Yy 234 |

ToRE A F AF AREACE O
Toifere wE meRiRce | e kR qifermt aferat
SIRICE e ABITe @ ARFCS Weer =1, So 922
AR | FCAFT AR, AT THfe (@5 =@
SACER S SN Gy TG AR, T8 i
I e S, ifi TR s Torm FR9,
I FGIReN Tovd SR = | FIMLIRAIFH GFHCE
IS AL T 230e | FIMRIG TR AR
T5{feq TQRE FRCS A0 |

Jife A ez | e S I TarecE

(IS AETRANE ©I2F @3 foe | fofd fKitapa s @,

AN @z erereife @t fres, wifs o W 363,

OGS (FZ OIZ 13 | TOdF T0I LI, TR [eawa

Sz R4z T 2309, O OigR KA 7)1 92w o7

Tl 13 | 92 eI I 1] FiFiaR [aites

(I STiel 71 RN, ORI Sesnte! RS TR |
EZE

] 2 [P.T.O.




B-10.

B-11.

R el (& g2t 23 ifRce 2

(A)
B)
©)
(D)
E)

O SRy I e
SRl (RE [ 71 2e
THARTE SR W0 GG (AT S

FIFIL A (T AN O FOIF Ttz
230E 2

(A)
B)
©)
(D)
E)

M Keites 2w e

AW SIS

fofseatiz oo

THCS R WK G (AT &S

AT el FAINLY A7 I [ o
IRt 2

(A)
(B)
©
(D)
(E)

I A2y

A g el

ol =zl

THCS R WK G (AT A&
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B-12. =712 I (F AR [{c2g Sowial 1
FER ORI S TR 2

B-13.

B-14.

(A)
(B)
©)
(D)
(E)

I el fee
THge g Al el
THARCSSfeT WL G (AT K

JIRE NS (o LI A 902 =
FACO O B2 ?

(A)
(B)
©)
(D)
(E)

iRe nifvw w26

BIRIRIBIEAC DI

fofseatia way

THCS R WK G (AT A&

FIARIIIL A @ AT TG g
e sface sface ¢

(A)
(B)
(©

(D)
E)

DI MR LA
RN SR

TR FGII T FRC = R
RIER)

THifaCeafled M0y O (ATF IS

EE
[=]¢?



2Rt (B-15 (4t B-20)

fe Ffeer—aeg s IFCelR, SN (o WA @
S FEAZ |

S FfeAT— W, S-S B I (ORI
ST 30 A1 2

e et —7 B9 7ol wiw @ g sive
[ N O €OIF S2R_TE MiRTe AT

A S g qeARd "eT [l oS
Rl Ffee—eael, ggfon W9 @R (ORI VA
COI-G] 2T [Z | 22 (Y A T DA (R
CSINITRE SIFCaa 24l s[eilfy |

e wfew ot e —odfie A== Tred
TP F(F ORIAR SNE ©F |

A SR — e Aol ool JRITE, Fee
GF] A (e TS 27 | SR oMo IO
Aelfe wam Aye godid Y OF CRIRTS 3w
AE GF6! GFE 2T Tofurad s ¢ I @
a5 2E FIRETR, O (ORI F/EE 15 FEAR|
oI oiE G efees i il Fifliafy, @
Ao SRS FCEN O AT FA-SINF T SI=0!
ORIt AREE 2307 |

S AT F2ET— (T ©fF AN, (7745
3R A ([ TE (1Z003 FelfRE F=0R=E-gf¥ 2val
JferaE Afes =1l | (@ AT Afee waalfd e core |
foe wxaif wfn wifamgss Sifgpcia St Gi-2E JoreR
SIS FIAT 2€ T O (6! (O (1 Freifs
R NCAIZIACH FT T 1 | (FTF =R IO (518
@izl eI, ST | (2 BRI, AT e
12 R4 39, (T S-S CISEFF (G, S
B R AT (TR 5 237 G N |

(I G0! 772 e (6B SR, FRFA—aF
(O 5 WCLE %, O THH AIFAH 2306 FIOR
AT T 2 AL RTwoF |
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ife sfze—aibrR o 13l Ior wr ada fF;
3oy 2Nl SEaTeT Wk AreFils SHe SR FRre
237 | o @ Sorw (Frewere e | 2bie
TIPS FfeeT—CT! HIcFR AeRMR; SN 96! 915
A #AfSrore—

(o PEe — (ORI AN ETRIGI Bie =7 wfice

it M (rfcef® | 799, O AATT!, TR0 AR AT
A

(TefFAR SNMC*R [Reeta (2 S Sieife Ffe
T G-, T FFE oeTtea ©eim 23te TR
it #iifSa wifaer vz fore Waig esiitem el
TS 23| PRI AT |

T ARGTS e —JACE 4y 237 AT AT T
AR F2re W, G2 foord foera SIwal Giois
@RS SAf7 711 5= SR S SoF 7, %
ST FOI[ A2 (T, SN A3 Fgres @1 75l
fafera ffran aifscs siica =11 51l fA6HRG w7, ol
W, THATH T A, AT FICS2 THOFA I | (7

o7ist RIS Fo, ORI SITARPING K2l |

B-15. 7w re, aFfer v @ Fl 20z
(A)
B)
©)
D)
E)

NG

e

SRRl

THARCS ST N AL (AP &

B-16. AR 3o, 20T BI QI O WA ALY

3 2TV SR ?
(A)
B)
©)
D)
(E)

CRICA &ren (1

femileT &cen

AR ATen

THARCS ST N AL (AP ST

] 2 [P.T.O.



B-17. e (3 237 LI SRR (1T A 11 2

B-18.

B-19.

B-20.

(A)
(B)
©
(D)
(E)

5 IO @IF G AT AP ol

RERICRCERRA]

OlF eI FIC

OIS B FICA

TS E T N0 G (AT LT

PLACR ?

(A)
(B)
(©)
(D)
(E)

Froifi qag Fsjef

EKISISERCERC |

eI @ Srjef

TARCS SR A G (A ST

IR ~AfRRICR I 7 Fi e

(A)
(B)
(©
(D)
(E)

BEISERET
AJCHS =T

IHY G GACHA IHA

TARGS SR T G (A S

AN T, NCF FO I 2

(A)
(B)
(©
(D)
(E)

TR

GRS G2 TR

AN IR SHATIES

TARTE SR N0 GG (AT W&

13/HV/M-2024-23/HS-523-E

12

B-21.

B-22.

B-23.

B-24.

“.... 31 prel &7 fresiE (rRrEite e e 17
B FHAIET AAfFere FaCeT 27—

(A) (ORI FENSMT (R SN0 S e
KIS

(B) T 9o STiA fTerona =i=iig e
=

(C) I &1 wet &t et faca =i
(D) THCE e My G (AP TP
(B) Totad @itaife «

“ . ARCEE (@ TAFAL...” (@RifEe omfba
I feefar e |

(A) T35F I0T (@ LAIF; TLGATCEN A A |

B) @A (TeeR) e @ A (99);
ffsre sesj

(C) (RT3 <I; 79T O

(D) THRCE sl M G (AP TP

(BE) TR (RICAiE w3

‘...Ccomzeefe A AT e AeF 1 QAT TAE
G (I (105 2o 2007 2

(A) e

(B)  HEH

(C) ok @R Bl TeAfers

(D) THCE sl A G (AP TP
(B) THER (@Itag <

AR *%(G (P SIS ?
(A) f&
B) b

(C) o () @ <l (TR widie
TP *H

(D) CofaCeafer Ata G (AP SKH
(B) ©otd (I8 1

EE
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B-25. GRGIE AGR (OB A HICT A | (@LifEe B-28. “GR1-siAl I 401" —GR-SiR *=io resife

mod FET ¢ Keofe 21— fojefar aeeT |
(A) i T Refe (A) GRawAl el (e TwE) [weAe
ECiER]

B) TR TR B) S e oml (5%)

(©) TR ISer (C) GRCTa OFI (T% O[T
(D) ToRSeulem My G (A0F TS (D) ofTTefn T Q@ (@ S
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(A) Teom
A) IR “@” fFrefe
(B) =m=t
B) iz FCF “9” [efE
©) o (C) TR “9@” [efe
(D) THAfCEafer e G (U v (D) TrRCwulm T G (A ST
(E) Toite (e wma (BE) Toitza @ieaifoz am

. B-30. % < O INFIPH
B-27. 2RI < 2N G R AR (i e SR ol ©

% A AR @ B e
A) =S @A) Rew
B) wffRRRe B) ==
(C) Tl < R (©) R

(D) ToRCSSR ey G (AT H
(B) Totaa @ieaifoe o

(D) ToRCeSR Ty G (AT F

(B) Totaa @iaifbe o
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31.

32.

33.

34.

35.

PART - 11

(GENERAL STUDIES)

Which of the following is the value of

(x+1/x)* ?

(A) x>+ 1/x°

B) x*—1/x?

©) x¥*+1x* +1

(D) More than one of the above
(E) None ofthe above

An article is at 10% more than the CP. If
discount of 10% is allowed then which of the

followingis right ?
(A) 1%gain

B) 1%]loss

(C) nogainno loss

More than one of the above
None of the above

D)
()

By what number should 81 be divided to get
a perfect cube ?

A) 3

B) 6

<© 7

(D) More than one of the above
(E) None ofthe above

The difference between two whole numbers
1s 66. The ratio of the two numbers is 2:5.
The two numbers are ;

(A) 60and6

(B) 100 and 33

(C) 110and44

(D) More than one of the above
(E) None ofthe above

In a parallelogram ABCD, angle A and angle
B are in the ratio 1:2. Find the angle A.

(A) 30°

B) 45°

(C) o60°

(D) More than one of the above
(E) None ofthe above
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36.

37.

38.

39.

40.

The height of a cylinder whose radius is 7 cm
and the total surface area is 968 cm? s :

(A) 15cm

B) 17cm

(C) 19cm

(D) More than one of the above
(E) None ofthe above

If (3)"*! x (=3)°=(-3)’, then the value of m
is:
(A) 5

® 7
© 1
(D) More than one of the above

(E) None ofthe above

Ifx and y are inversely proportional, then:
(A) y/x=constant

(B) xy=constant

(C) x/y=constant

(D) More than one of the above

(E) None ofthe above

A piece of wire of resistance R is cut into 5
equal parts. These parts are then connected
in parallel. If the equivalent resistance of the
combinationis R, thentheratioR/R'is

(A) 1725

B) 1/5

(©) 25

(D) More than one of the above
(E) None ofthe above

An electric heater of resistance 8 QQ draws
15A current from a service mains for 2 Hrs.
What will be the rate at which heat is
developed in the heater ?

(A) 220 watt

(B) 120 watt

(C) 210 watt

(D) More than one of the above
(E) None ofthe above

[=]¢?



31.

32.

33.

34.

3s.

PART - 11

(GENERAL STUDIES)

fFrafaRea @ @ S A (x+1/x)2 wAARE ?
(A) x>+ 1/x°

B) x*—1/?

©C) x¥*+1/x* +1

(D) 3o & A0 A arfeen

(B) S awe i

Teh i@ €1t & 10% 3tferes W g | 3t 10%
Qe ol IgAfa & Al Frefefea A a s aadi @ 2
(A) 1%

B) 1%zf

(C) FAcmuag

(D) 3o & A0 A arfeen

(B) Sudwd & =g 7

qui o ITe A 3 fore 8 1 <Rt ok ween @ fernfsra
forn ST =nfRu 2

A) 3

B) 6

<© 7

(D) Sudw AU A Aferes

(E) Suder® & g &

31 qui GEE % e ot 3T 66 B | 3F1 aem
1 U 2:5 3 | i TEAmi §

(A) 6036

(B) 100 3w 33

(C) 110 s 44

(D) Suger d € T W 3iferh

(E) Suder® & g &

Tk TR Tgs ABCD #, %ot A 3iR shiut B
31U 1:2 2 | hiut A 71 <hifeTe |

(A) 30°

(B) 45°

(C) 60°

(D) Suger d € T | 3iferh

(B) S a e
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36.

37.

38.

39.

40.

T S S ekt Breen 7 @t @ st e
g gheT 968 AT R

(A) 153

(B) 17

(C) 193w

(D) 3o & A0 A arfeen

(E) Suderd & whig &

R (3)! x (-3)° = (3), A m A AR E?
(A) 5

B) 7

© 1

(D) Suda ® 8 TE A HAfeew

(B)  3wder o & g T

e x 3 y SR &, :
(A)  y/x=Teeris

(B) xy="Torm=

(C) x/y="Teeri®

(D) Suge @ AT A ek
(B) Sudwd & = T

uferier R ok forelt R o6 gehs oiel sRIeR Wi o e
A E | 39 geRel ot R ured shu | w3
£ | afe weem i gea gfedier R' 2 4t R/R' ™
A FIERT ?

(A) 125

B) 1/5

(C) 25

(D) 3o & A0 A arfeen

(B) Suger # 8 hrg

8 Q uferer =1 g ferega i frga A w2 w2
ah 1 5A Toregaem s 2 | et # seam ss R R
Fn Rt 7

(A) 220 watt

(B) 120 watt

(C) 210 watt

(D) ude & U A Afew
(B) Sudwd @ =i T
EEE
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41.

42.

43.

44.

45.

Which of the following lenses would you
prefer to use while reading small letters found
in the dictionary ?

(A) Aconvex lens of 50 cm

(B) A concave lens of 50 cm
(C) Aconcavelensof5cm

(D) More than one of the above
(E) None ofthe above

The human eye forms the image of an object
atits

(A) Cornea

(B) Iris

(C) Retina

(D) More than one of the above
(E) None ofthe above

Which of the following is not a part of the
female reproductive system in human beings ?

(A) Ovary

(B) Uterus

(C) Vasdeferens

(D) More than one of the above
(E) None ofthe above

The anther contains

(A) Sepals

(B) Ovules

(C) Pollen grains

(D) More than one of the above
(E) None ofthe above

Asexual reproduction takes place through
budding in

(A) Amoeba

(B) Yeast

(C) Plasmodium

(D) More than one of the above
(E) None ofthe above
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46.

47.

48.

49.

50.

Which one of the following types of medicines
used for treating indigestion ?

(A) Antibiotic

(B) Antacid

(C) Analgesic

(D) More than one of the above
(E) None ofthe above

The task of processing citizenship applications
under the CAA will be undertaken by

(A) Postal Department

(B) Census Department

(C) Central Security IB

(D) More than one of the above
(E) None ofthe above

In which of the following country India
launched its UPI ?

(A) Thailand

(B) Myanmar

(C) Mauritius

(D) More than one of the above
(E) None ofthe above

What is the name of space craft to be
launched by ISRO in 2024 to carry
astronauts ?

(A) Akashyan

(B) Gaganyan

(C) Bhramyan

(D) More than one of the above
(E) None ofthe above

Which country is not a member of G 7 ?
(A) Russia

(B) Canada

(C) USA

(D) More than one of the above
(E) None ofthe above
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41.

42.

43.

44.

45.

Tereht vregenia ® for@ B2 31arl <l ugd |H g
= 7 A A e TEe w7

(A) 50 cm wiHE gl 1 ITA

(B) 50 cm wieHH gh w1 AR T

(C) 5 cm wishA gl 1 FTEAA

(D) 3o & A 0 A arfeen

(E) Sudwd & =g 7

Frferiaa ® © Tohe R W fohelt areg 1 Sfeitena
TEE ?

(A)

(B) uftaem

(C) grRuew

(D) Sudw | TR A Afw

() Swdwdawe

e da SR A SR T R AT AE g ?
(A) st o
(B) wwive

(C) yprenieet

(D) Sudw AU A Aferes

(B) Suger & 8 hrg T

(C) TR
(D) 3o & A U A arfeen
(E)  vofer & & g i

STATITR T Ghet- gRT gl 8
(A) orfen#

(B) dred

(C) wremfzamd

(D) 3o & A 0 A arfeen
(B) Suger # 8 hrg T
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46.

47.

48.

49.

50.

AU o TSR A o foTu fnm o | ferm aitafarem
ST AT R ?

(A) ufasferes

(B) ufdsra

(C) diserd

(D) 3o & A0 A arfern

(E) Suderd & g &

CAA & 1=t AnTiehan fskan o fote smaega ek
Freuren form o gt feman SR 2

(A) s favmgR

(B) <o fasm gr

(C) <hsiageen .. gr

(D) Sudew AUk A Al

(B) Suger # & hig &

e o @ form 3o @ wra A 3o UPT =i ferem
27

(A) uEeE

(B) wmwr

(C) wwm

(D) Sude AUk A Al

(B) Suger # & hig &

T g 2024 ¥ siaker At Afga 99 ae
STANEHT 1 AW 3

(A) ITRTEE

(B) wWHIW

(C) seEm

(D) Sudewd AT A Aferes

(B) Sudwd & =g 7

FMWMG T W EATETE R ?
(A) T

(B) @

(C) 3Tz

(D) Sudw AU A Aferes
(E) suger & whis T8
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51.

52.

53.

54.

55S.

56.

The process involved in achieving Green
hydrogen is

(A) Electrolysis

(B) Dehydrogenesis

(C) Dehydration

(D) More than one of the above

(E) None ofthe above

Which technology can be used to revise

deceased individuals ?
(A) Deepfake
(B) Al

(C) Chatbot
(D) More than one of the above
(E) None ofthe above

In cost of living index parameter 2024 which
country is better than India ?

(A) Nigeria

(B) Pakistan

(C) Bangladesh

(D) More than one of the above

(E) None ofthe above

Who supported Gandhiji in Champaran
Satyagraha in 1917 in support of farmers ?
(A) BirsaMunda

(B) RajendraPrasad

(C) SatyaNarayan Sinha

(D) More than one of the above

(E) None ofthe above

Which is the moon-like planet ?

(A) Mercury
(B) Mars
(C) Earth

(D) More than one of the above
(E) None ofthe above

On the basis of fossils which is the origin place
of man ?

(A) Riftvalleyof Aftica

(B) Central Asia

(C) Jerusalem

(D) More than one of the above

(E) None ofthe above
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57.

58.

59.

60.

61.

62.

In India dry point settlement is found in
(A) Flood prone area

(B) Bikaner

(C) Aravaliregion

(D) More than one of the above

(E) None ofthe above

In which district of Bihar Paddy crop

production is maximum ?
(A) Bhojpur
(B) Rohtas

(C) Nalanda
(D) More than one of the above
(E) None ofthe above

On which mountain is Tehran situated ?

(A) Alburz
(B) Zagros
(C) Makran

(D) More than one of the above
(E) None ofthe above

The highest peak in the Eastern Ghats of India
is:

(A) AnaiMudi

(B) Kanchenjunga

(C) Mahendragiri

(D) More than one of the above

(E) None ofthe above

Which of these statements is not a valid reason
for the depletion of flora and fauna ?

(A) Agricultural expansion

(B) Large scale development projects

(C) Grazzing and fuel wood collection

(D) More than one of the above

(E) None ofthe above

Inwhich district of Bihar silk textile production
is maximum ?
(A) Madhubani
(B) Bhagalpur
(C) Aurangabad
(D) More than one of the above
(E) None ofthe above
[=]: EI
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51.

52.

53.

54.

5S.

56.

R gEIgIeH I &1 i | AR ¢ ?
(A)  sorERTEtE

(B) <SrEgRHRE

(C) Fcieteo

(D) Sudwd AU A Afere

(E) Suder® & g &

1 H Tepten T S YRSHTe faen a8 2
(A) Sorm

(B) u am

(C) e

(D) Suger d | T W 3iferh

(B) Sudwd & =g 7

2024 3 Siifer Gk HTehet | hiF |1 391 WRd
Y ATHRE ?

(A) i

(B) Uik

(C) reTewt

(D) Sudw AU A Aferes

(B) Suger # & hig &

ferami & f2a | mefsht 3 1917 | =vura "geame
Toraer agama fomn an 2

(A) fowenguet

(B) g TER

(C) wemrE famg

(D) 3o & A0 A arfeen

(E) sugea @ g T8

TEHI AGYE U B ?
(A) T

(B) W

(C) uet

(D) Sude W UF | AfeH
(E) Suder®i A g &

SHETYH o HTR T A Icdi g hiA-HATE ?
(A) arshreRt < e arél

(B) weawivmEn

(C) <&Te™

(D) 3o & A0 A arfeen

(E) Suder®i A g &
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57.

58.

59.

60.

61.

62.

AT # yyeh foreg wreh fremeht 2
(A) e g d

(B) frwmd

(C) et wat

(D) Sudw AU A Aferes
(B) Suger # & hig &

forgr = form et ® e =t ScuTea Fanfares gl 2 2
(A) WS

(B) Tega™

(C) "=

(D) Suger d | T | 3iferh

(E) Suder® | g &

T fra vda m fem g 2
(A) veEs

(B) <wrw

(C) wwm=

(D) Sudw AU A Aferes
(B) Suger # & hig &

WA < i u1e hl ga@ S= =1 g -
(A) FEHE
(B) T
(C) wesfm
(D) 3o & A0 A arfeen
(E) Suderd & whig &
TR | HIA-HT HYA gt IR el <l e
YU HROTAG S ?
(A) ngﬁ'lﬁﬁn—«na
(B) Fee tuH W AsTIa o forem
(C) =g 3R AT il TAehgl i Ushefierur
(D) 3o o A0 A arfeen
(E) Suderdi & whig &
forgr o form et ® Yomdt o =kt IcuTea weTieeR
Trag ?
(A) g
(B) wmeTqR
(C) sirmamg
(D) 3o & A0 A arfeen
(E) Suderdi & g &
EEE
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63. Who was the viceroy of India during the 67.

Jallianwala Bagh massacre ?

(A) Lord Curzon
(B) Lord Chelmsford
(C) LordIrwin
(D) More than one of the above
(E) None ofthe above
68.
64. The first President of the Indian National
Congress was:
(A) Dadabhai Naoroji
(B) W.C. Bonnerjee
(C) Badruddin Tyabji
(D) More than one of the above
(E) None ofthe above
69.
65. 'Who among the following is also known as
the Grand old man of India ?
(A) Bal Gangadhar Tilak
(B) Dadabhai Naoroji
(C) Gopal Krishna Gokhale
(D) More than one of the above
(E) None ofthe above 0.

66. Which of the following movements was
started by M. K. Gandhi ?

(A)  Quit India Movement

(B) Non cooperation movement

(C) Swadesi movement

(D) More than one of the above

(E) None ofthe above
13/HV/M-2024-23/HS-523-E 20

Who was the leader of the Bardoli
Satyagraha ?

(A) Sardar Vallabhbhai Patel
(B) Bal Gangadhar Tilak

(C) Jawaharlal Nehru

(D) More than one of the above

(E) None ofthe above

Who among the following is not associated
with Home rule movement ?

(A) Annie Besant

(B) Bal Gangadhar Tilak

(C) Sarojini Naidu

(D) More than one of the above

(E) None ofthe above

Who founded the Bihar provincial congress
committee in 1920 ?

(A) Dr. Rajendra Prasad

(B)  Anugrah Narayan Sinha

(C) JaiPrakash Narayan

(D) More than one of the above

(E) None ofthe above

The All India Kisan Sabha (AIKS) was
founded in 1936 in Bihar under the leadership
of :

(A) Dr. Rajendra Prasad
(B) Jai Prakash Narayan
(C) Swami Sahajanand Saraswati

More than one of the above

D)
(E) None ofthe above
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63.

64.

6S.

66.

HAfAITATA ST IS h SR WRA T STHETT S
qr ?

(A)
(B)
©
(D)
(E)

s
TS ST

S e

S it A T &
o A A T

AR T I & Tget ieaer 9 -
(A) e RS

(B) ==, ®. Al

(C) =eEan deaastt

(D) Sudw AT A Afre
() SwdwdawE

Frataftaa & @ foraent “fug sitee &7 sw sfear’
F Y TS ?

(A)
(B)
©)
(D)
(E)

e TER foeTeh
EERERIE]
TITE ST TG
Suger | A Uk A sifern
SugeR A A R A

FraforRaa # & %A | 31igeH T, &.TTEh gR s
e ?

(A) WRABIS! R

(B) @A e

(C) eyt argrerm

(D) s # @ wh A afrs
(B) Sudwd & =g 7
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67.

68.

69.

70.

TG TR Tl el i AT ?
(A) TERTGH WIS wee
(B) s TmeR foeren

©)
(D)
(E)

AT ATA A6
Suderd | | U W Afeen
ERREER R

Frafeien # | ®F W & STigeH | arag TE
ar ?

(A)
(B)
©
(D)
(E)

o fawie

A TR Feieteh
RAERIRLCH
Iuger | ® U | I
IR H A T

oREm 1920 3.  forgR TIGToTeR shitkd SRSl hi T
ot ?

(A) =TSR R

(B) ey v fern
(C) STIHIIT ARTIOT

(D) Sudew AT A Afre
(B) Sudwd & = T

1936 # stftaet e foram | (T, 318, . )
& worrorT fargr # ferereh A ® g3 oft ?

(A) =i T TR

(B) T SRS ARI0T

(C) o Tg=Ig wEad

(D) Suger d | T | 3iferh
(B) Sudw A A e
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71.

72.

PART - 111

(PSYCHOLOGY)

In which of Piaget's cognitive development, a
child becomes capable of understanding
conversation?

(A) Concrete operational

(B) Pre operational

(C) Formal operational

(D) More than one of the above
(E) None ofthe above

Match the following and choose the correct
answer from the given codes.

Type of Intervention Concepts
1. Physical presence 1) Conformity
to norms

2. Modeling of i)  Compliance
Behaviour to others

3. Consensus about iii) Obedience
preferred
response

4.  Situationsthat iv)  Social
increase salience facilitation
of norms

5. Commands v)  Irritation

Codes :

(A) 1-(iv), 2-(v), 3-(i1), 4-(1), 5-(ii1)

B) 1-(v), 2-(iii), 3-(iv), 4-(i1), 5-(1)

(©) 1-(31), 2-(1), 3-(v), 4-(iii), 5-(iv)

(D) More than one of the above

(E) None ofthe above
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73.

74.

75.

A research hypothesis is also called:
(A)
(B)
(©)
(D)
E)

Statistical hypothesis
Alternative hypothesis
Working hypothesis
More than one of the above

None of the above

What is the fundamental principle of
counselling.

(A) Empowering individuals to manage
their own issues

(B) Givingadvice and suggestions

(C) Diagnosis of psychological disorders

(D) More than one of the above

(E) None ofthe above

Which of the following is an affective
component of attitude.

(A) Itisthe way a person feels toward the
object, person or situation

B)

It is the action a person takes in regard
to the person, object, or situation

(C) It is the way a person thinks about
himself or herself, an object or a
situation

(D) More than one of the above

(E) None ofthe above
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PART - 111

(PSYCHOLOGY)
71. Toam = fora wxmTcHes faenra § S araeid st 73. Uk I Uehe Tl shi Wi ST A S
-] ?
T Aer g 2 W e
(A) wg Gfckareres
. (B) Srehfctres aitehed
(B) ud wfsharcen
) (C) <wrIviet ufteheaat
(C) aiigeniies AishaTceh
] it
(D) udem i@ T s (D) EFARTR
. -] i
E) wrfmdawdd (E) 3ugsada s &
72. FrafeRaa e = qen Ry A A w@ IW 74, owe e g g ?
il
ki (A) il o T T h Gei ol Teed w
IIET
C) v feremri
). wmmwwEERW Q) gEiwER © e
R RINC] (D) Sudem @ U @ 3l
3. UECQIufaRaTeR  iil)  STRIRE (E) Sudead s e

forwa | st wgata
4. UiufefdEist  iv) e gl

AEE! Tt 75.

EZE UK
5. omew V) e
%e:
(A) 1-(1v),2-(v), 3-(11), 4-(1), 5-(1i1)
B) 1-(v),2-(1i1), 3-(iv), 4-(i1), 5-(1)
(C) 1-(3i1),2-(1), 3-(v), 4-(iii), 5-(iv)
(D) Iuger | U W AU
() Swde o & g
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2?
(A)

(B)

©

(D)
(E)
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76.

77.

78.

79.

How many cells are in the model of the
structure of intellect?

(A) 180

(B) 160

(©) 190

(D) More than one of the above
(E) None ofthe above

What are the characteristic features of the
Indian Health Healing Systems

(A) Integral to the cultural beliefs
(B)  Sprituality in the core

(C) Holistic in nature

(D) More than one of the above
(E) None ofthe above

Which of the following is core conditions of
the client-centered approach?

(A) Unconditional positive regard
(B) Congruence

(C) Empathy

(D) More than one of the above
(E) None ofthe above

Which of the following is not characteristics
of problem situation?

(A) Complexity of solution

(B) Size ofthe problem

(C) Similarity of the problem
(D) More than one of the above
(E) None ofthe above
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80.

81.

82.

83.

Physical, emotional and psychological fatigue
states are known as:

(A) Bumout

(B) Stress

(C) Resistance

(D) More than one of the above

None of the above

(E)

Who among the following focussed primarily
on how personal attributions are made?

(A) Jonesand Davis

(B) Kellyand Heider

(C) Jones and Nisbett

(D) More than one of the above

None of the above

(E)

According to Freud the consious mind is
like

(A) Longterm memory

(B) Iconic memory

(C) Echoic memory

(D) More than one of the above

None of the above

E)

Psychoanalytic counselling's view of human
behaviour emphasizes the influence of :

(A)

Unconscious processes and early

experiences
(B) Theclien's capacity for self-healing
(C) Rational thinking processes
(D) More than one of the above
(E) None ofthe above
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76.

77.

78.

79.

gfig it ve & Aie | fraf Aew 2 80.

(A) 180
(B) 160

(C) 190

(D) Fodem i @ v @ i
(E) Sudem @ & g &

TR T2A IU=IR YUTet <kt o fergremamd s=n

?? 81.

(A) CTEhideh WIS S SR 37
(B)  smemnfeerehat e et &

(C) srpfa & vt

(D) Sudew d | Uk A e

() Swder o & g T

FraferRem & & @A FTge —<higa gEenivT it g 82.

A R?

(A) o i weRRTewe T
(B)  srgwam

(C) @l

(D) Sudem @ U @ 3iferen
(E) Suder s & g i

83.

Fraferiea o @ =F a5l g e S e
e
(A) e ST
(B) W HT THR
(C) v &t FuE
(D) 3udea ¥ @ UF | AfIw

(E)  3ofam o @ ohrg
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IR, WIeHTHR TR AT 2eh o ferfa
T FHF AL :

(A) wHemse

(B) @@

(C) i

(D) Sude ® @ U @ Afrw
(E) vogem s & g =i

FreafciRea # & forem 969 €0 @ 38 91 W &AW
Higa foren 2 for saferma sTiu FR U A 2 2

(A) i 33l

(B) *eh siRfE=

(C) i aik Fraare

(D) a4 T A it
(E) Sudwda e

RIS & ATER o T e g
(A)  deiemticrss wfa

(B)  wffeiferm e

(C) wiveafawfa

(D) Sudew ¥ | Uk A e
(B) Sudem @ g =

e g o SR # AAeIgeIUTIcHeh Wt
gy Freferfaa % gw@ msR @ :

(A) erIEa ufskan SR TRiYER 1gwa
(B) aEe <ht 3 Tafehean <At et
(C)  eheTa |l ik

(D) Sude ® @ U @ Afrw

(E) vodem s & g =i
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84.

8s.

86.

Which of the following statements is not
correct about error variance? Choose correct
options

(1)  Error variance is self-compensating

(2)  Error variance is both positive and
negative

(3)  Errorvariance is unpredictable

(4)  Error variance is always negative

Options:

(A) (1)and(4)only

B) (“)only

(C) (2)and(3) only

(D) More than one of the above

(E) None ofthe above

Drive reduction theory suggests that an
important, motivation for behaviour is to:

(A) Maintain a state of homeostasis
(B) Increase physiological arousal
(C) Experience alow state

(D) More than one of the above
(E) None ofthe above

In which year patna university established a
department of psychological Services and
Research and adopted the concept of
guidance?

(A) 1947
B) 1945
(C) 1950

(D) More than one of the above
(E) None ofthe above
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87.

88.

89.

90.

Which of'the following is not correct about
flashbulb memory?

(A) Theyareusually accurate
(B) Theyare vivid and detailed
(C) The canbe personal

(D) More than one of the above
(E) None ofthe above

Freud used the term 'repression' to account
for:

(A) Defensive amnesia

(B) Dream amnesia

(C)  Childhood amnesia

(D) More than one of the above
(E) None ofthe above

Descriptive, correlational and studies
tend to have high external validity and
relatively low internal validity

(A) Quasi-experimental studies
(B) Non-experimental studies
(C) Experimental studies

(D) More than one of the above
(E) None ofthe above

The use of strong conditioned stimulus a
creates a second conditioned stimulus is
called:

(A)  Stimulus generalization

(B) Spontaneous recovery

(C) Higher order conditioning
(D) More than one of the above
(E) None ofthe above
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84. I foremur & aw @ Frfeiaa @ & & @ wem 87.

TR T 2 2 W forerea m g :

1)
2)
3)
4)

Ffe fereror w arfaafd w e aen a2
3fe Fereror erreen iR SRUTTeTeR ST AT 2
e fereror srgeenfy@ g 2

e forerun wret woTHe e 21

forrea

(A)
(B)
©
(D)
(E)

Faa (1) 3R (4) 88.

et (4)

¥t (2) 3w (3)

S 1 @ U @
I A A R T

85. grza frecwvm fagra ward 2 T =reEr & fetu e
TEeIqUT SR 2 :

(A)
(B)
©
(D)
(E)

89.

Taferta i feufa s
IR AT g1

T TR T WS HEAT
U | § T | 1R
TG o A IS T

86. fora o ye favaterene™ 3 wAEEeR Senat 3R

STEEN 1 Uk faram wenfua foran 3R arieyi 6

ST <hl TG ?

(A)
(B)
©
(D)
(E)

1947

1945

1950
Sufer 8 8 T @ sl
Iue | A IS TE
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90.

w Tem AAd (wf) 3w § Preflen § @
AL TR ?

(A) 3 TR W EEH B §

(B) A fivr ok Rreqa g

(C) a=aferTa g deha &

(D) wodwa & T A s

(E) uded Q=g T

TATIS A gAA 91e2 1 Ta fAmfeiRaa < foru feran
?:

(A)
(B)
©)
(D)
(E)

AT At

O T
AU <t Ffoeta

U | § T | 1R
I | A R T

UTHTcHeh, AT 3T T |
I AT AT 3R STULTTR W ATARS SEa1 gre
2l

(A)
(B)
©
(D)
(E)

AL ST 378aaH
TR TERTIeHeh e
TR SIEaH

U § | T | S
TR H A A T

AT AL IEUH IUSHT Sl ITART Th TER
Y IEUR T Tl g A :

(A) IEUH AR

(B) @R AR

(C) &R Y

(D) Sudew d | Uk A e

(E) vogem s & g =i
EEE
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91. The receptors of the taste buds work most 95.
like
(A) Receptors in the skin
(B) Receptors in the eyes
(C) Receptors in the ears
(D) More than one of the above
(E) None ofthe above
92. In which year, Hermann Rorschach First
described Inkblot techniques 96.
(A) 1912
(B) 1921
(C) 1924
(D) More than one of the above
(E) None ofthe above
93. Who was the chief exponent of 'signal 97.
detection theory' ?
(A) Green
(B) Swets
(C) Helson
(D) More than one of the above
(E) None ofthe above
94. Choose the correct option from the following
about the original Binet-Simon seales
published in france 08,
(A) 1906,1911,1916
(B) 1905,1908,1916
(C) 1905,1908,1911
(D) More than one of the above
(E) None ofthe above
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is a collection of nuclei, located

deep beneath the cortex and damage to their

structures can affect posture and may be
associated with abnormal muscle movements

(A) Sulcus
(B) Basal ganglia
(C) Gyrus

(D) More than one of the above
(E) None ofthe above

In which stage of psychosexual development
'castraction anxiety' takes place?

(A) Phallic stage

(B) Genital stage

(C) Analstage

(D) More than one of the above
(E) None ofthe above

According to Herzberg's two-factors theory
of motivation, which of the following factors
is most likely to lead to increase job
satisfaction and motivation?

(A) Competitive salary and benefits
package

(B) Challenging and meaningful work
(C) Frequent performance reviews
(D) More than one of the above

(E) None ofthe above

In which situation conformity is greater?
(A) When groupis large
(B) When there is group pressure
(C) When group is different type
(D) More than one of the above
(E) None ofthe above
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91.

92,

93.

9.

e HfAhIan & Nawed T s1fdes e | 95.

FERAE

(A) e i

(B) aii@i o fed

(C) =i Rded

(D) Sugea @ A U @ 3w
(E) oo & g i

OO Tk A Ugelt aR ford oI Sehecien dehHieh A1

ot fema? 96.

(A) 1912

(B) 1921

(C) 1924

(D) sja & & v & it
(E) Sugderd ¥ =g T

Hoha T gt o T ufourees Sk 9 7
(A) ¥R

(B) wew

(©) T

(D) 3ude d A U A sl

(E) Sudemdi @ whig &

i | TRty g feR—wmswa wmot o e @
Frafafea 4 @ = gf

(A) 1906, 1911, 1916
(B) 1905, 1908, 1916
(C) 1905, 1908, 1911
(D) wja i & v A il
(E) Sudem @i @ g &

98.
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97.

TMUhT T Teh AU, S HIEH h
| e T 2wt @ SR sreme wrea vt
o ifer | 21 A Ak 2

(A) gowHd

(B) e vt

©) "mweEm

(D) wja i & v & i
(E) Sudem @i & g &

AR forena o form sreren ® “aftrmeron femr
T E?

(A) fom sramen

(B) ifires sraen

(C) a1 rawen

(D) Sudem @ U @ 3iferen
(E) Sudw®a e

Folart & TUN % FRE g & AR,
FrafeReaa ® @ @i o1 wwe Hiwd i wafy iR
TRUT Rl g <hl EHTEAT T&d1 8 ?

(A) vt aam ok v e
(B) giteitgut 3R weich

(C) AR Tav Teftert

(D) vodfer i 9 v & aiferm

(E) uded Q=g T

forer fRarfir  orguTeT stfre B &
(A) SEwREENL
(B) <& HYEHI A A
(C) = wg fora srehm 1 €hemt 2
(D) Sude il Qo A afrs
(E) SudwAAwE

EE
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99.

100.

101.

102.

Which approach of counselling assumes that
a person is active and self-actualizing aget?

(A) Cognitive approach

(B) Behaviouristic approach
(C) Humanistic approach

(D) More than one of the above
(E) None ofthe above

The primary rehearsal strategy used to
maintain information in short - term memory
is known as

(A) Chunking

(B) Elaborative rehearsal

(C) Maintenance rehearsal

(D) More than one of the above
(E) None ofthe above

Learning any task by repeating it over and
over until one has memorized, it refers to what
kind of rehearsal?

(A) Maintenance

(B) Repetitive

(C) Imagery

(D) More than one of the above
(E) None ofthe above

Which of the following is a monocular cue?

(A) Aerial perspective

(B) Interposition

(C) Linear perspective

(D) More than one of the above
(E) None ofthe above
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103.

104.

10S.

106.

Piaget's theory of cognitive development
suggests that during the preoperational stage,
children exhibit :

(A) Thedevelopment of egocentrism and
symbolic thought

(B) The ability to think abstractly and
logically

(C) The ability to understand and follow
complex rules

(D) More than one of the above

(E) None ofthe above

A measure of the variability of a scores in a
group of individuals is called :

(A) Norms

(B) Validity

(C) Standard deviation

(D) More than one of the above

None of the above

E)

Who proposed the attenuation model of
selective attention?

(A) Annegray

(B) Anne Treisman

(C) Annemarie smith

(D) More than one of the above

None of the above

E)

When no language is used in an intelligence
test, then it is known as :

(A) Performance test
(B) Creativity test
(C) Imagination test
(D) More than one of the above
(E) None ofthe above
[=]#=[m]
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99.

100.

101.

102.

TS % hIF T SURTH I O ¢ o =t uh
forameiien oiit smrenfirg woft 2 2

(A)
(B)
(©)
(D)
(E)

T AT

FEERATS JUFH

HHTATEE! ST

Sude | § U W Al
TG o A IS T

Srearater |fe # TN T W & fore ST
Y AT STt Tfieh gERT o TUTHIT ot STHT ST
?:

(A) <iRE

(B) o ggmen

(C) et =l e TE

(D) Sudew ¥ | U A e

(B) Sudem @ g =i

foreht Tl Rl IR—aR SR SIS ok R a8
TG 7 I AT, Tg g9 & foh foret STehm <t gaieas:

(A) TowEE
(B) drwE

(C) e

(D) Swdam & o & i
(B)  Sofam @ g 7

freaferfige 8 & WA A TH- S ERA 27
(A) oyl ufigera

(B) &we

(C) dmufge

(D) Fodem i @ v @ i

(E) Sudem @@ g &
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103.

104.

10S.

106.

o & AT forerma o frga @ ua weran @
ToR gdl —T=ITer =T 3 SR, o= A A @ -

(A) 3Eehigaan 3R Teiehteeh ferem < feremma
(B) e 3iR difcheh &9 | WioA A et

(C) <ifeet Frami =it |we 3R 3 Ut A
&t gra

S i 8 T A TR
I A g T

(D)
(E)

Tk THE o GINTH | TTHIh <hi TRICHRAT o STER i
AT HEATAT 2 ©

(A) =

(B) swrm

(C) wreh fareem

(D) Sudead | Uw | Afew
(E) Sudemd & g &

TIATCHE ST <1 &T1UT Aiget forem sreafer feman 2
(A) wha

(B) g

(C) uf R fee

(D) Sudem @ U @ 3w

(E) Suder s & g i

T gfig vlieror § g wren e T i A @ @
TR :

(A) o adgmon

(B) Y=TcHeR qdeton
©)
(D)
(E)

SHeUAT U

Suge H § U W Al

Suder U | g TEl
EE
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107. Who among the following has suggested:

'Coctail Party Problem'?

(A) Broadbent

(B) Colin cherry

(C) Anne Treisman

(D) More than one of the above

(E) None ofthe above

108. Match the following and choose the answer
from the given codes :
List -1 List - 1T

1.  McDougall a)  Homeostatic

2. Connon b)  Drive

3. Hull ¢) Intrinsic

4.  Timbergen d)  Fixedaction

plan

Codes :

(A)  1-(d), 2-(c), 3-(a), 4-(b)

(B)  1-(c),2-(d), 3-(a), 4-(b)

(©)  1-(a),2-(b), 3-(c), 4-(d)

(D) More than one of the above

(E) None ofthe above

109. Whatis selective attention?

(A) Theprocess of intentionally focussing
on specific information while ignoring
other stimuler in the environment

(B) Theautomatic response to all incoming
sensory input

(C) The inability to filter out irrelevant
information

(D) More than one of the above

(E) None ofthe above
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Which of the following theories stresses 'the
interpersonal nature of careers and associated

life style' ?

(A) Traitand factor theory

(B) Development theories

(C) Psychodynamic theory

(D) More than one of the above

(E)

None of the above

Which one of the following context refers to
relationship between the sender and the

receiver

(A) Social

(B) Cultural

(C) Physical

(D) More than one of the above
(E) None ofthe above

In body language what does clammy

handshake indicate?

(A) Passive acceptance

(B) Nervousness

(C) Confidence

(D) More than one of the above
(E) None ofthe above
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107.

108.

109.

frafefga @ foraa ‘T wicmeet urdl wwen &
e fem g

(A) sies=

(B) whifer =it

(C) dhgEm

(D) Sude U@ Uk A s

(E) Sudwda e

Fraferftaa o frem = aen fou o e @ @ s
H I R

T -1 g - 11

1. TwEre a) wmfeafa

2. %W b) AR

3. & c) w@aMvIfeEh

vafd
4, fwasm d) Fivoawe
A

%< :

(A)  1-(d), 2-(c), 3-(a), 4-(b)

(B) 1-(c),2-(d), 3-(a), 4-(b)

(©) 1-(a),2-(b), 3-(c), 4-(d)

(D) Suded @ 9 Uk W AT

(E) Sugde® & e

AT S T ?

(A) UATERUT S 3T TRl FET FA g
ez fafvTe SRl o e Shfgd
%t Rl

(B) @t 1 At Hord g 3 i wrenford
ufafsran

(C) TR I R B T FaHerdn

(D) Suded @ 9 Uk W ATk

(B) Sude s & e T
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110. fF=fafga ® @ == a1 g saa@ i g&ita

111.

Sfre Sieft < ureafies Tehfd WA 3 g ?
(A) ViR ofR SR fergra

(B) T frgra

(C)  weimicreht feregrea

(D) Iwde A TH A Al

(E)  3ofam o 9 ohrg

Freaferfaa & & == a1 Hed Suek 3R sTHewdt %
o HEY Y SINAT g ?

(A) i
(B) @
(C) i
(D) vodfer i 9 v & aiferw

(E)  3ofam o 9 ohrg

112. Irdifer WreT | T78 9 | T e = qunan

2?

(A)  EehwIcT e

(B) wemEe

(C) srefavam

(D) e i @ v @ i
(B) Sudem @ g =
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113.

114.

Match the following learning styles and choose
the correct answer from given codes :

Relational style Analvtical style

1. Perceiveinformation 1) Style matches

most school
environments

as a part of total
picture

2. Exhibitimprovisational ii) Are more task

and intuitive oriented
thinking concerning
academics

3. Are more task- i1i1) Focus on

oriented details
concerning
nonacademic area

4. Style conflicts with 1v) Exhibit
the traditional sequential and
school environments structured

thinking

Codes :

(A) 1-(iii), 2-(iv), 3-(i1), 4-(1)

(B) 1-(1), 2-(ii1), 3-(ii), 4-(iv)

(C) 1-(iv), 2-(1), 3-(ii1), 4-(i1)

(D) More than one of the above

(E) None ofthe above

Which one of the following is not the facets
of Neuroticism of revised NEO Personality
Inventory?

(A) Self-consciousness

(B) Assertiveness

(C) Impulsiveness

(D) More than one of the above
(E) None ofthe above
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115.

116.

117.

118.

Which of the following is not the
characteristics of psychological disorders?

(A) Disturbing

(B) Dysfunctional

(C) Dangerous

(D) More than one of the above

None of the above

(E)

Depression is caused due to low activity of

which of the following?

(A) Dopamine

(B) Glutomate

(C) Serotonin

(D) More than one of the above

None of the above

(E)

Who among the following developed
Cognitive Assessment system?

(A) Gardner

(B) Sternberg

(C) Deas

(D) More than one of the above

None of the above

E)

Which of the following triarchie theory of
intelligence correctly explains the term "Street
smartness or business sense"

(A) Componential intelligence
(B) Contextual intelligence

(C) Creative intelligence

(D) More than one of the above
(E) None ofthe above
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113.

114.

FrafearRaa sherm diferai @ fiem R sk R o
e | TE S G :
YT et FrgerwuTTeRes dieft

1. gumwiamtE i) Jieh il
o TSk W & €9 e ATATau
o gHgE o W Tt 2
2.  dchiorR iR AER i) Nerw g A
e Tefiia e atfers wEgE
Bk
3. W-Vatmmeaas i) Fermrw em e
Tee 1 atferes
HEgE 2
4., Vol uRuRETEA  iv) SIshR 3R
e |
STATERUT & T weftd &
HoY S 2|
%e :
(A)  1(iii), 2-(iv), 3-(ii), 4-(i)
(B) 1-(1), 2-(ii1), 3-(ii), 4-(iv)
(©) 1-(iv), 2-(1), 3-(i11), 4-(i1)
(D) Suded @ 9 Uk W ATk
(E) vogem & & g =i

FrfeRea ® & = ™ w1 3.90. SfF gt &
ferferaen =1 wge @ 2 2

INEE LR

(B) gEa

(C) snamyierar

(D) wja i & v A i
(E) Sudem @@ g &
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11S.

116.

117.

118.

FraferRem # him wdeniAe foremrt it ferovan &
2?

(A) URMEEHE

B) ==

(C) waE=h

(D) Sude @ U @ 3t

(E) Sugerd & =g T

arareTg FieferRea o & Rt o a3 Hro
FR?

(A) Zurfem

(B) e

(C) weF=

(D) Sugert & & U W sferh

(E) ude & & =g T

et 9 9 fFe dstTees geare womet
for@I?

(A) TER

(B) WA

(C) =m

(D) o & v & s

(E) 3udem @ & whig &

FrafaRea @ @ #im @ gig = Benfds g
TSH T A hl THISH 1 STk THST I8
TR A AR ?
(A) CFHTHE Fhgaa
(B) wmfies gigmmn
(C) T gigamn
(D) Sudew d | Uk A e
(E) Sudem @@ g &
EE
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119. What research method did Cattell use
extensively in his work on personality trait

(A)
B)
©)
(D)
()

120.

Factor analysis

Longitudinal studies

Case study

More than one of the above

None of the above

The Oedipus complex is associated with which

stage of psychosexual development?

(A)
B)
©)
(D)
E)

121.

Oral stage

Anal stage

Phallic stage

More than one of the above

None of the above

Which of the following term refers to the

process of activating a specific schema
through exposure to related stimuli?

(A)
B)
©)
(D)
E)

122.
(A)
(B)
©)
(D)
E)

Schema deactivation
Schema priming

Cognitive dissonance

More than one of the above

None of the above

The preserverance effect can lead to:

Increase Willingness to change opinion
Open mindedness

Ridigity in belief

More than one of the above

None of the above
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123. The 'Sunk cost fallacy' refers to:

124.

125.

126.

(A)
B)
©
D)
()

Ignoring previous decisions
Considering only immediate gains
Relying soley on institution

More than one of the above

None of the above

Which of the following is a characteristic of
insight problem-solving ?

(A)
(B)

©)
(D)
E)

Sudden realization of the solution

Incremental progress towards a
solution

Relience on algorithm and heuristics
More than one of the above

None of the above

Test-retest reliability assess:

(A)

(B)

©)

(D)
E)

Consistency of scores across different
forms of a test

Consistency of scores over multiple
administrations of the same test

Accuracy of scores compared to a
known criteria

More than one of the above

None of the above

In within-subject design, each participant:

(A)

B)

©)

(D)
E)

Is randomly selected from a different
population

Is exposed to multiple conditions in a
random order

Is assigned to only one experimental
condition

More than one of the above
None of the above
[=]#% =]
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120.

121.

122.

et A SHfekIed TUT WR 3794 T | o v ugfa
1 AU &Y A U= feman ?

(A) = fayerwo

(B) orgeed sremaml

(C) *m remaA

(D) Suard ® | Uk W Afrh
(E) vodem & & g =i

anfeus wrered B e forehrar & fore wvoT |
TR?

(A) iftas =

(B) TEr=m

(C) Forwha=mm

(D) Suded @ 9 Uk W ATk

(E) Suder & g 7

fFr=feaa | | == & sy gattE sass
& T & {1 | U fafvre whmn = afsha @
R ufskan Rl Hefa a2 ?

(A) sz

(B) whmwgfim

(C) EHTH FTE

(D) Iuged © A Uk @ 3w
(E) oo & g i

AT THTE o HRUT kel @ -
(A) T wEe 5o o §
(B) g feremaen

(C) fommadiggm

(D) Sudea d | UF | AfH
(E) Sudemdi @ whig &
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123.

124.

12S.

126.

“Feh hTEE el Rt 31ed 2

(A) Tusa Futal o TeReiE wE
(B) hae dcehiicteh oiet U fererm s
(C) it g Teu™ W SR &
(D) Suer ® | Uk W Afrh

(E) voderm s & g =i

FrafiRen # @ @ @t siaghe awen amam &
faomma

(A)
(B)
(©)
(D)
(E)

T 1 3 TgHE
e i faen ° gigyie wfa
TEMER 3R ST W s
Suger | 9 Uk A Sifern
TR H G T

G qdteTuT forvarar et <t STehe
(A) e & faftra wui & @R 6t feeran

(B) U € wfie % %3 frarasm § @R
feoran

T WHEE Y gor1 | TRt Tl
Sude 4 | Uk W e
Suger § | g TE

©
(D)
(E)

Hasiare &g & iaita Toies afawmtt :

(A) TS gU® FTEEA ¥ AGess €9 @ AT
e 8

;@%mmﬁ@@ﬁﬁ%ﬁﬁﬁm
SHeret T g1 vt ok forg e feren s @
Suger | 9 Uk A Sifern
TR H G T
[=]: EI
[=]¢;

(B)

(©)
(D)
(E)
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127. In classical conditioning, the unconditioned

128.

129.

response (UCR) is:

(A) Theresponses that occur naturally to
the unconditioned stimulus

(B) The learned response to the
conditioned stimulus

(C) Theinitial conditioned stimulus
(D) More than one of the above

(E) None ofthe above

Procedural memory is responsible for storing.
Choose the correct answer from the following

(A) Motor skills, habits and learned
behaviour

(B) Facts and information about the world

(C) Personal experiences and
autobiographical events

(D) More than one of the above

(E) None ofthe above

In the study of sound perception, which
theoretical framework best elucidates the
mechanism underlying the perception of
medium-pitched sounds

(A) Volley theory

(B) Frequency theory

(C) Placetheory

(D) More than one of the above
(E) None ofthe above
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130.

131.

132.

Consider the following two statements
Assertion(A) and reason (R). use the codes
given below to indicate answer

Assertion (A): The Kuder-Richardson
technique mitigates split-half reliability issues

Reason(R): This technique evaluates reliability
in tests with diehotomous items, scored as 0
orl

codes:

(A) Both (A)and (R) are true and (R) is

the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is

not correct explanation of (A)

(C) (A)istrue,but(R)is false
(D) More than one of the above
(E) None ofthe above

‘Who among the following has written a famous
book entitled 'choosing a vocation'?

(A) Frank persons

(B) Elbert hubard

(C) Meyer Bloomfield

(D) More than one of the above

None of the above

(E)

Which Eriksonian stage aligns with Freud's
Latency stage in psychological development?

(A) Trustvs Mistrust

(B) Autonomy vs Shame and Doubt
(C) Industryvs Inferiority

(D) More than one of the above

(E) None ofthe above

EiE
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127. i srgaem 8 faen o fefean (UCR) # :

128.

129.

(A) o o T 3 wfe wte w9 @ A

e SR
(B)  orgeiem i 35t v ré ifaren
(C)  srifires srgder e

e 8 9 0 & it

Iuger H A S TE

(D)
(E)

afskarTeres wfd sigruT < foru fereama 1 fmforRem
| § w@ W gHu)

(A) WIEX A, G SR HET g TR
(B) g & o # wem 3R eI

(C) wafemma SWE 3R SATHEBATHE TATY
(D) IwdwH A TH A Al

(E) sugea® @ a8

Al el o AT U, i AT Agifeieh gran Hed
TR ATt i o Sl o ol Tad S 1 d
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(A) et forgra

(B) e fergrat
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130.

131.

132.

freferRaa 2 wemt w fiem |

sAftrRe (A) 921 %Rt (R) S sha F A &
fore ==t T Te gt s SwE Rl
aftreReA (A) : Fet Frerser deites ot anen
ferverariiaan & R A w0 w
2l

T AR TgHTeTeh agatt Ot
Tleruti i fervareaan ot gedie
ot g g 0 = 1 # =i femen
E1G1K

&Rt (R) :

%e:

(A) Fi(A) SR (R) TR 3R (R), (A) =

T =T A 2

M (A) 3R (R) T 8 3R (R), (A) =
E AT T gl

(C) (A)wa gl (R) s
(D) Sudew U@ Uk A s
(E) udemd Q=g T

(B)

Frafeitea o | foram it st aemeA’ Ames frg
geaes foreft 3 2

(A)
B)
©)
(D)
(E)

Theh UG

T gaRS

e seaithes
Sugfer A U A S
IR | W HE T

I E1 N TR0T HHIETeh ferehtd H Thre
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(A) Torvam sAm sifavas

(B) Tamern 9w v 3R Hag

(C) == g
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133.

134.

135.

136.

Which communication has an emotional
appeal?

(A) Intrapersonal communication
(B)  Group communication

(C) Interpersonal communication
(D) More than one of the above
(E) None ofthe above

When someone uses their past experiences
and expectations to interpret ambiguous
sensory information, they are engaging in:

(A) Top down processing

(B) Bottom up processing

(C) Sensory adaptation

(D) More than one of the above
(E) None ofthe above

Who among the following believes that
'perceptual abilities are innate'?

(A) Empiricists

(B) Behaviourists

(C) Observationists

(D) More than one of the above
(E) None ofthe above

According to Vygotsky, the level at which a
child can almost but not fully, comprehend or
perform a task on his/her own.

(A) Zone of proximal development
(B) Level of potential development
(C) Zone of subsequent development
(D) More than one of the above

(E) None ofthe above
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137.

138.

Find the wrongly match pair from the
following and choose the correct answer from
the given alternatives:

(A) Industry vsrole confusion
(B) Basic trust vs mistrust

(C) Initiative vs guilt

(D) More than one of the above
(E) None ofthe above

Match the following models of health
behaviour with their features :

1. Health belief 1) Emphasizesthe
Model satisfaction of basic
psychological
needs autonomy,
competence &
relatedness
2. Theory of 1) Depicts behaviour
Planned Behaviour =~ change asa
cyclical process,
with stages
ranging from
pre-contemplation
to maintenance
3. SelfDetermination iii) Health behaviour
Theory is the direct result
of abehavioral
intention
4. Transtheoretical 1v) Attitudinal
model approaches to
health behaviour
change
Codes :
1 2 3 4
(A) (v, @), (@), ()
B) @), @), @), (@)
© @, (@), (i), (Gv)
(D) More than one of the above
(E) None ofthe above
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133.

134.

135.

136.

or TR T Uk WTEATeHe ST @ 2
(A) Iidaafereh HuR

(B) wHgE=m

(C) uREafeh E=r

(D) Sugea @ A U @ 3w
(E) Sudem @@ g &
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(A) e whe
(B) @ s ahem
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(E) Suger o8 e
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FHAAENE?

(A) ogwEaq

(B) =HaEREw

(C) el

(D) Sudew d | Uk A e
(E) Sugderd & =g &
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(C) =g foremma 1 =R
(D) Sued ® | Uk W Afrh
(E) vodem s & g =i
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fow o Farred & & Tl T g

(A) fesm ™ R AR
(B) Titfeten fargarma smm sifervam
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LliCLE]
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1 2 3 4
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B) G, @), (@), (@v)
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(E) Suder & g i
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R [P.T.O.



139.

140.

141.

142.

Two-step concept of attitude change was
proposed by :

(A) Mohsin

(B) Rogers

(C) Lickert

(D) More than one of the above
(E) None ofthe above

Choose the correct answer from the following;
'Gestalt theory emphasized';

(A) A flow of consciousness

(B) Tendency to see the pattern
(C)  Environmental stimulus

(D) More than one of the above
(E) None ofthe above

On the basis of Gardener's theory of multiple
intelligence, the potential career choice for a
person with Spatial Intelligence should be a:

(A) Airlinepilot

(B) Psychologist

(C) Lawyer

(D) More than one of the above
(E) None ofthe above

Which of the following artificial intelligence
programs was able to beat world class

Champion Garry Kasparov?

(A) Deepred

(B) Deepblue

(C) Deep green

(D) More than one of the above

None of the above

E)
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143.

144.

145.

Who among the following introduced the

concept of adaptation?

(A) Kohler

(B) Wertheimer

(C) Helson

(D) More than one of the above
(E) None ofthe above

A person who lost touch with reality, he is
suffering from which of the following?

(A) Neurotic

(B) Psychotic

(C) Manic

(D) More than one of the above
(E) None ofthe above

Which statement about language properties
is incorrect

(1) Language has a structured pattern
where specific symbol sequences
convey general meanings.

(i) Language structure can only be

analysed at one level, either phonemic

or morphemic.

Language users can generate novel
atterances despite structural contraints.

(1)

(iv) Language allows communication
among individuals sharing the same
language.

Choose the most appropriate code

(A) (i)and(ii)

B) (i), (i) & (iv)

(C) (ii)and (iv)

(D) More than one of the above

(E) None ofthe above
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142.
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143.

144.

14S.
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146. Which of the following is the last step in
observational learning?

(A) Retention

(B) Consequences

(C) Acquisition

(D) More than one of the above

(E) None ofthe above

147. What are the three stages of memory
processing?

(A) Sensory memory,STM,LTM

(B) Encoding,storage,retrieval

(C)  Acquisition,maintenance,forgetting
(D) More than one of the above

(E) None ofthe above

148. Those children who are over protected are
tend to display :

(A) Aggressiveness

(B) Immorality

(C) Negativism

(D) More than one of the above
(E) None ofthe above
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149. The Bandura's Bobo doll experiment
demonstrated that children learn aggressive

150.

behaviour by :

(A) Directreinforcement

(B) Conditioning response to stimuli
(C) Punishing aggressive behaviour
(D) More than one of the above

(E)

None of the above

Individuals receiving the message ask
themselves the basic questions :

D

0

(A)

B)

©)

(D)

E)

Is the person giving message trust-
worthy and sincere?

Does the source know anything about
the subject?

Only Iis relevant

Only ITis relevant

Both I and II are relevant

More than one of the above

None of the above
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fFrafafea @ @ =@ vemumere siftrm # sifom
UTEEH W R ?

(A) @
(B) ufumm
(C) waem
(D) sja & & v & it

(E) sugea @ a8

Tfel TEEERROT o i TR0 R 8 7
(A) v @, w.dwm., Tedem.
(B)  wiehe, WS, TSI
(C)  sifemrem, TowE, e
(D) IwdwH A TH A Al

(E) sugea @ a8

o == At sTTavEeRa @ i wvero e st
29

(A) 3R
(B) s
(C) eRRTTERaT
(D) Iwdw A TH A Al

(E)  3ofam o 9 ohrg

13/HV/M-2024-23/HS-523-E

45

149. =Tg0 o e <ot w2 A Seivia o fon = smrmen

HaEr ftEa @

(A) vt GEEon 8

(B) el & ufa srgee afafseen &

(C) 3TEhTHES: AR & Efed ek

(D) Sudew d | Uk A e

(E)  3ofam o 9 ohrg

150. €9 T HA T Ao TE | TS T3 U84 2 -

[) 0 S e HeW QW 8, WEHg 3R
FAMERE ?

) oo, femasaRAwEae?
(A) ot | TR R

(B) aet [ urEfites 21

(C) =i e I urfiren 21

(D) wodea & A T A i

(E) sugaa @ a8

EEE
L [P.T.O.



SPACE FOR ROUGH WORK / ™ & & fe1u wam

13/HV/M-2024-23/HS-523-E 46 o] i



SPACE FOR ROUGH WORK / ™ &® & fe1u wam

13/HV/M-2024-23/HS-523-E 47 R [P.T.O.



13/HV/M-2024-23 e si@en

EEE STHIGAR T FTHHATR

[ E
T -gfecret
WINT, AT AT 3R A=

(20w )

gl % IR 37 W UgA 9 for@ argavh wi g | ug |

10.

11.

12.

WETIYUT 3T

g agA-yftaswt 7 i # fawfia @ - wm-|, wm-11 w@ am-11], wm-| | s (edar) & uea €, wm-| |
AW AT & U9 § aar wm-| || | wwfagm & wea €

wrr-|, wrer (erdar) ® wew wwar 1@ 30 a% wea 21 wwr-| # sfsht W | wew www E-1 @ E-8 ww (Wt %
fom wmm), fedt W @ wom e H-9 & H-30 @, 3¢ Wt & woat s U-9 & U-30 @ aen aiven Wit |
uva wea B-9 @ B-30 aw § (erwaefi @t di wwiat # @ Reeh w W % wew g4 €)1 W= | § www wean 31@ 70
qen ww-1 || ® wya @@ 71 | 150 @ ) (wwr-1| qen wm-l 1| § u9q ok 37 3w sish va &t ® giga €)
|t avAl w1 3w wEE )

Tyl & ST A F A enueRl I ume uvA yftast & o femn man 21 o SR we & fRwife wam d st
FFAiE @ @ geag &1 aur 3w fyam sava ol sy TumT SWR wEe wiwm g WA
Titgn SN @R @ AU S yv-gftae td Wend I qfeaswt i e 3w o R ae-yfeast & Iw
Tl o qfgm guen @ sw yfeawt W qfgm goen wm 31 o 9 o wiw & 6 gfees § W w0 g
gt 9l (4B @. 46 aiv 47) wfga q¥ 48 qfgm gz § aitv %19 wva a1 yz foam swr gan @ wer gan
n QA AT gan a1 vy gfeaswt vd s qitewt 9 qfga sjuen @ oem @t adf R)1 yfeaw wE W sw
gftawt # frdt yor N gfe TR R aTETE WEF agR FH gEen 1 gEH q@ gawr /@ &)

34 U8 & W Fgifa wom @ s sgwais srava fod | ywa-gftast w sk g3 7 fod)

el U9 & | S - (A), (B), (C), (D) @it (E) %u W fad m2 €1 376 | 314 T WE haAe Tk ST Kl g SR
TR IR UAE W IHfRA H| HTAHT FeA TTHIH TYh GRI IR UH | 3ifeha Tt 3wa W Fsiw |

T I § T T Hen d R g e s mER i gui - A), (B), (©), (D) R (B) 1w % 3w 3 6 v st
AU UHG T HAA Th I kI Hel/Helt T F SiA-uise 99 | fafEa w21 y@w uva & fou Fae s s w®
T 3 IV U IR U # Fafga H) o9 SR U | afg v uva & fore v @ sifes g | fom o €, @ stueet
IR AT AET AR I 99E # IR B e F0 & fou daw s/l @l & aia-dize 97 w1 @
yain &I fedt Wt aER ®1 FE-FH2 Agar yREdd arw T@fl )

gfe forft uga @ fopeht wwr 1 w1 ggur T qaTenw TwR fY I A, @ gl F S awn TR wurad § @ sish
FUTR 1 AFS AET JET |

TyA-YfTaeht | HIE U1 BISAT AT ST HIAT 7T 2| TG fEaaht 31X 3T u=eh i udien srafd # udien wa= | argt way
T @ W wlign & AEGE W IW U9F AYE w1 Aq W9 d| SHF 918 AU HUA UvA-giEaswn swa e @
W & argafa 21

FW F SN A | forelt v w1 +ft uter TE FW W 3 W A F FAETER wRarg i S TRt 8 SUan st g
fa=n w1 " )

sreaeff 3T e W eroHt sufrufa @ Self Adhesive LDPE Bag @ gft aig @ e /et ®iam & 3udia g udien wat
& BIS|

523

Note : English version of the instructionsis printed on the First Page of this Booklet.
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